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Question 1  (*%)

Solve the following inequality.

Question 2 (*%)

Solve the following rational inequality.
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Question 3  (*%)

Find the set of values of x, that satisfy the following inequality.
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Question 4  (*%)

Find the set of values of x, that satisfy the following inequality.
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Question 5 (*%)

Solve the following rational inequality.
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Question 6  (*%)

Solve the following inequality.

,|12<x<-1 U x>1
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Question 7  (**+)

Find the set of values of x, that satisfy the following inequality.
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Question 8  (**+)

Find the set of values of x, that satisfy the following inequality.
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Question 9 (**+)

Solve the following inequality.
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Question 10 (**%)

Determine the range of values of x that satisfy the following inequality.
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Question 11 (**%)
Determine the solution interval of the following inequality.
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Question 12 (**%)
Find, in terms of the positive constant k , the solution set of the following inequality.
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Question 13 (***4)

Solve the following rational inequality.
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Question 14  (**%4)

Solve the following rational inequality.
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Question 15 (¥%*%4)
Solve the following rational inequality.
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Question 16  (**¥*4)

Solve the following inequality.
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Question 1  (*%)

Find the set of values of x that satisfy the inequality
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Question 2 (¥*%)

Find the set of values of x that satisfy the inequality
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Question 3 (**%)

Find the set of values of x that satisfy the inequality

‘x2—6x+8‘<6—2x.

22 <x<4-2

Question 4  (**4)

Find the set of values of x that satisfy the inequality

‘x2—2‘<2x.

—1+\/§<x<1+\/§
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Question 5 (¥*%¥)

,xeR, x#-2.

a) Sketch the graph of f(x).

The sketch must include the coordinates of any points where the graph meets the
coordinate axes and the equations of any asymptotes.

b) Hence, or otherwise, solve the inequality
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Question 6  (¥***4)

Find the set of values of x, that satisfy the following inequality.
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ALGEROMC APPROAGH
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Question 7
Determine the range of values of x that satisfy the inequality
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Question 8  (Gr¥¥*¥)

Find the set of values of x that satisfy the inequality

r LFE-S

© MAY MUY 06 WITIpUT worels 4ea]
DALY DIRECTTION

@ F 3>-S THN THE MUY [@1F L= | Tt THE INGpuALTY

REDUCER To PEROES To
Cets)(e-th) =l < () (B-0)
llo- o [P TRE D Goks) 8-4)
= SR+ Rx - <O N AT
=G (z-2) <o S -% do
eyt =2l -20

| .
© Hoxr 240 o Bea<n

Created by T. Madas



Created by T. Madas

Question 9 (FF*FFF)

Solve the following inequality.
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Question 10  (F**%%)

Solve the following inequality in the largest real domain.
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Question 11 (k*¥%F)

Solve the following modulus inequality.
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Question 12 (¥*%%%)
Find the set of values of x that satisfy the inequality
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Question 1  (*%)

Solve the inequality

2x—1 3x+2
< .

7 3

Question 2 (**+)
An advertising sign has a rectangular design so the its length is x metres and its width is
(6—x) metres.

Given that the area of the advertising sign must be at least 5 square metres, determine
the range of possible values of x.
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Question 3 (**+)
T=8x—-12y+7.
i i 1 K _1 2
It is further given that > <x<3g and 6<V<3-

Determine the range of possible values of 7.
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Question 4  (**%)

Show clearly, without approximating and without using any calculating aid that
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Question 5 (¥*%4)
Given that k >0 show clearly that
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Question 6  (¥***4)

Show clearly, without approximating and without using any calculating aid that

a) \/6+2\/€>\/§+\/§.
b) J3>42.
0 V2-1>3=12.

proof
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Question 7  (¥***4)

Show clearly that for all real numbers ¢, £ and ¥
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